
01733 511030
sales@xldisplays.co.uk

ASSEMBLY INSTRUCTIONS - EXTENDING HEIGHT SCREENS

p.g. 2

EXAMPLE SCREEN ARRANGEMENT

1

4 5

2

6

3

FOOT FIXING DETAILS

SCREEN HEIGHT 
ADJUSTMENT CORNER TRIM

STRAIGHT FRAME
CONNECTIONS

END BAY AND WALL 
FIXING

CORNER FRAME
CONNECTIONS

Configuration may vary.



01733 511030
sales@xldisplays.co.uk

ASSEMBLY INSTRUCTIONS - EXTENDING HEIGHT SCREENS

p.g. 3

TOOLS REQUIRED

4mm

1 END BAY FOOT

FITTING A ROLL NUT

M8 ROLL NUTM8 x 12M8 x 20

5mm

5mm
1

1

2

2

3

3



01733 511030
sales@xldisplays.co.uk

ASSEMBLY INSTRUCTIONS - EXTENDING HEIGHT SCREENS

p.g. 4

1

2
M8 x 12

5mm

1

1

MID BAY FOOT

4mm

M6 ROLL NUT

x8

M6 x 12

x8

x2



01733 511030
sales@xldisplays.co.uk

ASSEMBLY INSTRUCTIONS - EXTENDING HEIGHT SCREENS

p.g. 5

3

4

4mm

4mm

M6 ROLL NUT

x4

M6 x 12

x4

CORNER GUSSET

x2

1

2



01733 511030
sales@xldisplays.co.uk

ASSEMBLY INSTRUCTIONS - EXTENDING HEIGHT SCREENS

p.g. 6

5

4mm

M6 x 16

x2

6

M6 ROLL NUT

x4

M6 x 12

x4

x1

x1


